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Air has both oxygen and nitrogen. Is the average Ki-
netic energy of an oxygen molecule higher, lower, or

the samedas the average kinetic energy of a nitrogen
molecule?” Why?
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A gas is initialy at a temperature of 130 K. The
temperature changes to 360 K. What is the ratio of
the final and initial average kinetic energy of the gas
molecules?
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A fish tank is divided into two sections by a glass parti-
tion. The glass is 0.007m thick, 0.40m wide and 0.50m
tall. The temperature on one side of the tank is 18°C
while the temperature on the other side is 22°C How
much enery passes through the partition in 3 seconds?

22°c - 18

OO0 # 1

= AT
AE*>Q%AE = LW H K AT



A gas expands from a volume of 3m?3 to 4m? at a con-
stant pressure of 180 Pascal. While the gas is expand-
ing 600 Joules of heat is added.

(a) How much work does the gas do while expaning?

(b) By how much does the internal energy of the gas
change?
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